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| The ﬁgures in the margm mdlcate full marks
for the questlons :

Answer either in Enghsh or in Assamese.

1S G RS Oe FRat|

Answer question Nos. 1,2,3 and
~ any four from the rest.

1,2, 3 e Te PR o
IR R o R it o S fRar

1. (a) Fill in the blanks :

AWM S AT T g

(i) If A is an event then, ... < P(A) <
...... - 1
M A @B oA, COr <PA) <



(i) The aggregates of all sample points is.

. (b)

©

called the ........ . 1
T Ao R smEss ... Q@I |

(iii) The “independent i/a;iate values in
interpolation are termed as ....... .1
IS FeT 5o TS ... & R
- R

(iv) Cost of llvmg Index Numbers are known
as ... = 1
@mﬁaﬁm WW...;;...{%WWI

Write down the "approximate relation
between mean, median and mode of a
moderately skewed dlslnbutlon A 1

e TIRe R T 1S, T O TR

Wwwaﬂmﬁm

Fmd the SD of the values given below 1

2,2,2,6,6,6,6
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d) . lf the miean of the series’ Xl, X2 ...... X is
X, what is the mean of the series 4X, 4X,,

..... 4X, L 1
X, Xz,y ...... X &@tﬁﬁ T X T, 4xl,.
4X,; ... 4X) TR Mg W e =] 2

(e) Mention_, the parameter of Poisson probabi-
lity distribution.. 1

- (f) Mentlon two control charts for vanables in

sQc. 1
ﬁﬁmﬂ}?ﬁa aefet ﬁaa%mmw

..(g) Select the correct answcr" :
wg Tey Ao 4 3

If r = £1, the two lmes of regressmn are :

.‘zrﬁr—il qu mm’@,

' _(1) Comcndent

AT

(ii) Parallel
LG
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. (iii) Perpendicular to each other

2. (a)

(b)

(C)

(d)

AR §Y

(iv) None of the above. -
evﬁa «ore ml

FlndtheGMofOZand32 2
02 =% 327 TS :nas t‘a‘%ezm

Dlstmgulsh between parameter‘ and statistic.
' 2

ooe Wi efomde Srew stigky el

Find E(X) for the followmg probablhty '
dlstnbutlon of X :

X3 AsfERe swgﬁast IO AR E(X) ﬁeﬁr

'W°

X - 0 12 3

P: 18 38 38 18

State two essential pomts to be noted whlle ‘
drafting a questionnaire. =~ 2

mﬁa@mmmwww
@tﬁﬂm@m@mﬂaﬁn,

Mention two propertles of correlatlon co- '

* efficient. 2

| W@mwzﬁtdWW|
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3. Answer any four of the followmg questlons :
5%x4=20 -
ol & i Elﬁ’l'ﬁ oy e fral ¢
(a) Dlstmgulsh between primary data and
 secondary data. Mention vanous methods of
collecting primary data. |

PRUACRIACIS cﬂ?ﬂvsﬁﬂ?ﬂms’n@ﬁﬁnw
o e RS WW o]

(b) Write a note on the importance of Statistics
in Commerce. :
Wﬁm@ﬁ@me@m&éaﬁ COiet. '

o

' (C) Define mathematlcal expectation. A random
variable ‘X has the following probablhty
distibution :

AT 2SR SR Bl | Bt AP B
X3 sl To1 owe R xR s

X . 1 2 3 4 5.6
e, 1011011
PX): 5 6.6 6 5 6
Find E X) and Var (X).

E(X) &% Var(X) Rl 31|
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-(e)

Of a certain distribution, the Karl Pearson's

‘coefficient of skewness is 04, the standard

deviation is 8 and mean is 30. Find the mode '
and the median of the distribution.

mﬁ@maaﬁﬁmmwﬁm@mﬁl

T 04, T Roew a1 8 % ey 2ot 301
W@RWWN@ﬁ‘ﬁWI

Mention the chlef charactenstlcs of normal , |

_probability distribution.
2T SRSl a%:w GH hﬁw il

ol

o

What is a cont’roli'chart V'EXplain fhe reason
for 3o control limits for a control chart. -

ﬁmﬁaﬁ?mmsanﬁm

‘WWWW| '

4 @

Calculate mean and coefﬁcmnt of vanatlon
from the following data : - 2+4=6

Wmmwmwmﬁ @mf’asﬁ'-ﬁ'

B | ‘
Marks :0-10 10-20 20-30 30-40 40-50
@) h |
No.ofstudents: 15 25 60 40 10
(R =yr) ~
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(b) Deﬁne dlspersmn Dlstmgulsh clearly .-

‘between absolute and relatlve measures of

dispersion. 1+3=4

R el faal| Rogeam o9 [t <
Wvﬁaswamwvneﬁsmmml

5. (@ A problem on statlstlcs is given to five
| students A, B, C, D and E: Their respec-

~ tive chances (probablhty) of solvmg it are

11 171 1
‘ 1 4l
273 4 4 5 respectlvely What 1s.

- the probablhty that at least one of the students
- solve the problem ? - 6
| ﬂﬁw\mﬁw«wmwmaﬁam'
e @@ A, B, C, D W% Es fil !
COSTAI AL I FR sl TSRS

(b) If 5% electric bulbs manuféctured' by a
. company are defective, find the probability
that in a sample of 100 bulbs.
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6. (a)

M I B @A Best w11 R

m%mws%@%{@iﬂ,mmloomﬁqﬁ

(i) none .are defective

~ «bre whiye ReEh A A
(i) 3 bulbs are defective. 4
(Given e =0007)
3 5t Sfige ﬁq@ A 2 TSIt Refar
I

(ﬁm ize e = 0 007)

Fit a stralght line trend by the method of

least square to_the following data :

ATl SEIGH I 3

Year . 2008, - 2009, 2010, 2011,
(I=R)

Production

Rs.(crores) : 7 10 12 14

T
(16 Bt
2re)
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Year 2 2012, 2013, 2014
=) '

Production , \

Rs. (crores) : 17 2088 594
SeAv '
(I Bl

fZo1es)

Estimate the likely production for 2016.
2016 B9 IR A TAT I e 41 |

(b) Write a note on usefulness of Index Number.
4

ORI ATTE O] =S 6 53 Gl 7T |

7. (a) Discuss the relative advantages and limita-

tions of sample survey and census survey.
6

ofomf A o e T SRR
ARY T TSl G 4 |

(b) Explain the concepts of Type 1 and Type 1I

Error. ; 4
2T AT Fo WE RO oA o SfoLReN
wol IR 10 |
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8 (a) The followmg data are given D 5+1=6
_w EQBW‘R ' e

. "x
Mean - 40 6
(Sig)
Sbh 10 15
(T Rowm) - " _
~ Correlation ° coeﬁicient between x and
-y =09,

X IRy S SRS @l = 09,
@) Eind the two regression equations.v

e wﬁﬁw«t@tﬁcﬁ axn

(u) Estlmate the value of y when X = 60
- x-GOQ‘CﬁyWﬂI&’WWI

(b) Distinguish between 'ihterpolationﬂ and

extrapolation giving examples Co4-
- B, W@tﬁa snas afi@“m ity
- owefRn
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9. (a)

(®)
© two variables ? Explaln dlﬁ‘erent types of

10. ()

Estimate by Newtons method of interpola-

tion, the expectatlon of life at the age 12 .
years from the followmg data: 6

RSO a5 e TR 12 @W@.
mﬁ@wﬁmqw

Age : 10 15 20 - 25 30 35

'(W) '

Years : 354 3273 292 260 232 204
@

What do you mean by correlation between -

correlation. - 4

wol mwﬁamquﬁmﬁs{m%*ﬁ%a
am« FLTIE I =

‘What are assignable and chance causes of

variation in a manufacturing process ? When
is manufacturing process said to be under
statistical quality control ? . 4

R aftraR e it Fedd sRT ot

o wEepfe oI WY sk R R
. @ﬁmﬁﬁﬁqmﬂﬁmﬁﬁnawﬁmﬁa

A{%{@ﬁtw?
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(b) Write short notes dn any two :  3x2=6
R I WBR 8Fe 53 Gt Bt 2
@) Test of hypothes1s f
(i) Kurtosis : o
(iif) Level of significance.

At T
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